SUMS AND ANSWERS
1. The physician orders Catapress 400 mcg po every day. The medication is supplied as 0.2 mg per tablet. How many tablets will the nurse administer at each dose?

2. The physician orders calcium gluconate 0.3 g stat. The nurse obtains an ampule from the Pexis labeled 10% calcium gluconate. How many mL will the nurse administer?

3. The physician orders 500 mL aminophylline 0.5 g to infuse at 50 mL/hr. How many milligrams will the patient receive each hour?

4. The patient is to receive KCl 40 mEq/L at 10 mEq/hr IV via infusion pump. The vial of KCl contains 20 mEq/10 mL in D5W. How much KCl should be added?

5. The nurse receives a verbal order for nipride 2mcg/kg/min IV. The patient weighs 80 kg and height is 71 inches. The pharmacy sends nipride 50 mg in 250 mL. What is the rate of infusion?

6. The nurse is preparing to administer epinephrine 0.4mg subcutaneously x1. The available supply is 1 mL ampule 1:1000. How many mL would the nurse administer?

7. The physician orders vasopressin 18 units/hr IV, solution 200 units in 500 mL D5W. The vials are labeled vasopressin 20 units/mL. The hospital’s policy is to use an infusion pump for administration of vasopressin.

Calculate:


a. How many mL Vasopressin will the nurse add to the IV solution?

b. What is the pump setting?

8. Order: oxacillin 0.75g po q 6 hrs.

    Supply: liquid labeled 250 mg/5 mL

   How many mL will the nurse administer for each dose?
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1.
2 tablets

2. 
3 mL

3. 
50 mg
4.
20 mL

5. 
 48 mL/hr
6.  
0.4 mL

7. 
a. 10 mL
    
b. 45 mL/hr 
8. 
15 mL 
1. The physician orders Catapress 400 mcg po every day. The medication is supplied as 0.2 mg per tablet. How many tablets will the nurse administer at each dose?

1000 mcg = 1 mg

400 mcg = 0.4 mg

0.2 mg   =  0.4 mg

1 tab          X tab

0.2 mg X  =  0.4 mg/tab

X  = 2 tabs
2. The physician orders calcium gluconate 0.3 g stat. The nurse obtains an ampule from the Pexis labeled 10% calcium gluconate. How many mL will the nurse administer?

Meds supplied in %  = g/100 mL

1

10 g__   =   0.3 g

100 mL        X

10

X   =  3 mL
3. The physician orders 500 mL aminophylline 0.5 g to infuse at 50 mL/hr. How many milligrams will the patient receive each hour?

0.5 g__   =  500 mg   =    1 mg

500 mL       500 mL         1 mL

1 mg   =  X mg
1 mL      50 mL

X  = 50 mg
4. The patient is to receive KCl 40 mEq/L at 10 mEq/hr IV via infusion pump. The vial of KCl contains 20 mEq/10 mL in D5W. How much KCl should be added?

2

20 mEq    =    40 mEq
10 mL                X

1

2mEq X = 40mEq/mL

X = 20 mL
5. The nurse receives a verbal order for nipride 2mcg/kg/min IV. The patient weighs 80 kg and height is 71 inches. The pharmacy sends nipride 50 mg in 250 mL. What is the rate of infusion?

Steps:

a. Simplify the order.

160 mcg/min.

b. Reduce the number in the standard solution.

50 mg         =    0.2 mg/mL
250 mL

c. Change mg to mcg.   200 mcg/mL

d. Substitute 60 gtt for mL.   200 mcg/60 gtt

e. Solve problem using cross multiplication.

200 mcg    =     160 mcg
 
60 gtt                X gtt
200 X = 9600

X = 48 mL/hr 

6. The nurse is preparing to administer epinephrine 0.4mg subcutaneously x1. The available supply is 1 mL ampule 1:1000. How many mL would the nurse administer?

Drug strength as ratio – g:mL or g/mL

      1 g_       
1000 mL   =    0.4 mg

  1 mL                X

To eliminate the fraction in the numerator, then multiply the numerator and dominator by 1000. 

See below.









     1


      1 g_    1000 mL     

1000 mL  __1 g__         =    0.4 mg

  1 mL        1000 mL                X

                     1 g

    1 g___       =    1000 mg       Change grams to mg since order is written for mg.

1000 mL             1000 mL

1000 mg     =    0.4 mg      Cross multiply    
1000 mL           X  mL

X   =  0.4 mL
7. The physician orders vasopressin 18 units/hr IV, solution 200 units in 500 mL D5W. The vials are labeled vasopressin 20 units/mL. The hospital’s policy is to use an infusion pump for administration of vasopressin.

Calculate:


a. How many mL Vasopressin will the nurse add to the IV solution?

D   X   S  = Answer
H

10

200 units    x 1 mL  = 10 mL
20 units
1

b. What is the pump setting?

Use same formula as 8 a.

9                            5

18 units/hr     x   500 mL    =    45 mL
200 units               1

100

1

8. Order: oxacillin 0.75g po q 6 hrs.

    Supply: liquid labeled 250 mg/5 mL

   How many mL will the nurse administer for each dose?

Convert g to mg in order.  0.75 g = 750 mg

50

250 mg    =   750 mg
5 mL               X mL

1

50 x = 750

X  = 15 mL
7

